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Practice- - Apportionment

1. A mother has 50 pieces of identical candy to split among her
5 children. She decides that each child will earn a portion

of the candy based upon how many minutes of chores they
did during the week. Use each method to apportion the

candy.
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F' 2. Powell Pacific, a start-up airline company, has created the new Warp Plane. They will start with
sixty-five flights per month on three routes. Those routes are: Chicago to New York, Chicago
to Los Angeles, and Chicago to Miami. They anticipate 4010 passengers flying from Chicago to
New York, 3150 flying from Chicago to Los Angeles, and 1840
flying from Chicago to Miami. Apportion the flights to the

routes based on the number of anticipated passengers using
the each method.
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